Practice Quiz – Chapter 17
1.  For each of the following reactions, indicate whether the entropy is expected to increase or decrease.  Then explain why.

a.  CH3COOH(l)  (  CH3COOH(s)
b. N2(g)  +  O2(g)  (  2NO(g)
c. 2NH3(g)  +  H2SO4(aq)  (  (NH4)2SO4(aq)
d. N2H4(l)  (  N2(g)  +  2H2(g)
2.  a.  Determine the ΔGo value for the following reaction at 25oC.   FeO(s)  +  H2(g)  (  Fe(s)  +  H2O(g)

	
	ΔHo(kJ/mol)
	ΔSo(J/mol K)

	FeO
	-272
	60.75

	Fe(s)
	0
	27.28

	H2(g)
	0
	130.6

	H2O(g)
	-241.8
	188.7


b.  Is this reaction spontaneous or not?  Explain.

3.  The normal boiling point of sulfuryl chloride, SO2Cl2(l) is 69.3oC.  Estimate ΔHvap of sulfuryl chloride, if the ΔSovap is 87.0 J/K.

4. The following data are given for the sublimation of naphthalene at 298K:  ΔSo = 168.7 J/mol K and   ΔHo = 73.6 kJ/mol.  Calculate the pressure (in atm) of naphthalene vapor in equilibrium with solid naphthalene at 298K.                          C10H8(s)  ((  C10H8(g)
5.  Calculate ΔG for the reaction 2H2S(g)  +  SO2(g)  ((  3Srhombic(s)  +  2H2O(g), when the temperature is 25oC and the following conditions occur:  
	
	Pressure (atm)
	ΔGof (kJ/mol)

	H2S(g)
	1.0 x 10-4
	-34

	SO2(g)
	1.0 x 10-2
	-300

	H2O(g)
	3.0 x 10-2
	-229

	Srhombic(s)
	---------
	0.1


